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= 22,015
Al 4,718
- 4,718
ZOHFHAEH HSAE 24 820,084 866,032 N45,948
308 AMXISHMSOIA 791,384 832,180 N40,796
11 B 2SHUSHEANE A 791,384 832,180 N40,796
O=0x=4dgH 29 791,384 ,000& 791,384
401 AlEHIZ 2 0HY| 17,700 17,000 700
01 Al&H| 17,700 17,000 700
OANEZ & ZA 17,700
~ET7IOAIME EIT AHMAAY 7S
17,700,000 17,700
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2N
X ZH -
L= B

el

0z +J O

2rs4d
UEIME 54 &€ X2
gx=s g4d3

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
405 XHA&HF S HI 11,000 16,852 N5,852
01 AL 2 ZF S| 11,000 16,852 N5,852
O=20MRMH 25 7Y 11,000
— YT YYES £5HAD|
11,000,000 = 1CH 11,000
HYYNHNAZZNERIZ)SHI S 30,000 0 30,000
Al 22,500
- 7,500
307 2iz2tol & 30,000 0 30,000
Al 22,500
- 7,500
02 QIZ2IA AAIE E X 30,000 0 30,000
OfLYMAEZ=NEITZ O X &
30,000,000 30,000
Al 22,500
- 7,500
ANEA2SHINE 29 870,500 827,200 43,300
Al 200,000
- 670,500
=7 AE2sEIE I 870,500 827,200 43,300
Al 200,000
- 670,500
201 LBt Y| 3,000 3,500 A500
01 AP 22| H| 500 500 0
Ogbt4=24| 500
—esds 500,000& 500
02 2224 H| 2,500 3,000 A 500
OXssety (eSS0 < Hdldl)
2,500,000& 2,500
301 et A= 863,630 823,700 39,930
Al 200,000
- 663,630
V= - 2EESEA2 863,630 823,700 39,930
(@)Fal] 556,430
—2S1%, 2X1Y, &48"Y ol2d|
556,430,000 556,430
Al 200,000
3 356,430
O2% | 245,200,000 245,200
OWE &ItH & da8a3z 62,000,000 62,000
405 XHAHFIEHI 3,870 0 3,870
01 XAt 2B F S| 3,870 0 3,870
QA 2ESHIE ZHESE(HLYHA)P2L (A
) 3,870,000& ~1CH 3,870




2N
X ZH -
L= B

el

4 Ot
Hore H

= H =

e
sis 84 2 N
8 =5

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HMBAE &5 143,568 40,134 103,434
HMEAIE &5 2 22 143,568 40,134 103,434
201 LEr2 Y| 17,568 13,134 4,434
01 At 22l Yl 5,268 4,434 834
Oget=2H| 5,268
—AXNZ(MEMSANE X AIBE)
3,000,000& 3,000
—HSAE 22128 7L 1,500,000& 1,500
— x5z Sd= 6,400 103 x12& 768
02 3524t 12,300 8,700 3,600
O332=2 % HA 12,000
—HMEANE 283 322 ¥ MA
1,000,000& x12& 12,000
ONSAE HEEA(HI]) =42  300,000& 300
206 M =8l 1,000 2,000 A 1,000
01 & bl 1,000 2,000 A 1,000
ogsd A2 & 7Y 10,000& *100 & 1,000
401 Al HI L £ 0HHI 125,000 25,000 100,000
01 A& HI 125,000 25,000 100,000
OZ2U H=SAE RANEE 25,000,000& 25,000
oo™z X L 22
100,000,000 100,000




